
O−
10(2) (mod 17)

blocks defect matrix

G : 1 1 10× 8
2 0 1871 = χ3, ϕ3

3 0 3401 = χ4, ϕ4

4 0 5951 = χ5, ϕ5

5 = 4 0 5952 = χ6, ϕ6

6 0 7481 = χ7, ϕ7

7 0 22441 = χ8, ϕ8

8 0 52361 = χ9, ϕ9

9 0 52362 = χ10, ϕ10

10 0 59501 = χ11, ϕ11

11 = 10 0 59502 = χ12, ϕ12

12 0 65451 = χ13, ϕ13

13 0 65452 = χ14, ϕ14

14 0 93501 = χ16, ϕ16

15 0 130901 = χ18, ϕ18

16 0 149601 = χ19, ϕ19

17 0 151471 = χ20, ϕ20

18 0 157081 = χ21, ϕ21

19 0 157082 = χ22, ϕ22

20 = 19 0 157083 = χ23, ϕ23

21 0 228481 = χ24, ϕ24

22 0 261801 = χ25, ϕ25

23 = 22 0 261802 = χ26, ϕ26

24 0 327251 = χ27, ϕ27

25 0 359041 = χ28, ϕ28

26 0 392701 = χ29, ϕ29

27 0 392702 = χ30, ϕ30

28 0 418881 = χ31, ϕ31

29 0 561001 = χ32, ϕ32

30 0 598401 = χ33, ϕ33

31 0 654501 = χ34, ϕ34

32 0 654502 = χ35, ϕ35

33 = 32 0 654503 = χ36, ϕ36

34 0 714001 = χ37, ϕ37

35 = 34 0 714002 = χ38, ϕ38

36 0 785401 = χ39, ϕ39

37 0 837761 = χ40, ϕ40

38 0 1047201 = χ41, ϕ41

39 = 38 0 1047202 = χ42, ϕ42

40 0 1060291 = χ43, ϕ43



blocks defect matrix

41 0 1060292 = χ44, ϕ44

42 0 1060293 = χ45, ϕ45

43 = 42 0 1060294 = χ46, ϕ46

44 0 1309001 = χ48, ϕ48

45 0 1309002 = χ49, ϕ49

46 0 1309003 = χ50, ϕ50

47 0 1309004 = χ51, ϕ51

48 0 1309005 = χ52, ϕ52

49 = 48 0 1309006 = χ53, ϕ53

50 0 1570801 = χ54, ϕ54

51 0 1570802 = χ55, ϕ55

52 0 1817641 = χ57, ϕ57

53 0 1904001 = χ58, ϕ58

54 = 53 0 1904002 = χ59, ϕ59

55 0 1914881 = χ60, ϕ60

56 0 2120581 = χ61, ϕ61

57 0 2272051 = χ62, ϕ62

58 0 2513281 = χ63, ϕ63

59 0 2513282 = χ64, ϕ64

60 = 59 0 2513283 = χ65, ϕ65

61 0 2618001 = χ66, ϕ66

62 0 2618002 = χ67, ϕ67

63 0 2618003 = χ68, ϕ68

64 0 2945251 = χ69, ϕ69

65 0 2945252 = χ70, ϕ70

66 0 2945253 = χ71, ϕ71

67 = 66 0 2945254 = χ72, ϕ72

68 0 3029401 = χ73, ϕ73

69 0 3141601 = χ74, ϕ74

70 0 3481601 = χ75, ϕ75

71 0 4188801 = χ76, ϕ76

72 0 4188802 = χ77, ϕ77

73 0 4241161 = χ78, ϕ78

74 0 4241162 = χ79, ϕ79

75 0 4241163 = χ80, ϕ80

76 = 75 0 4241164 = χ81, ϕ81

77 0 5236001 = χ82, ϕ83

78 = 77 0 5236002 = χ83, ϕ84

79 0 5301451 = χ84, ϕ85

80 0 5301452 = χ85, ϕ86



blocks defect matrix

81 0 5301453 = χ86, ϕ87

82 = 81 0 5301454 = χ87, ϕ88

83 0 5890501 = χ88, ϕ89

84 = 83 0 5890502 = χ89, ϕ90

85 0 5890503 = χ90, ϕ91

86 = 85 0 5890504 = χ91, ϕ92

87 0 5984001 = χ92, ϕ93

88 0 6092801 = χ93, ϕ94

89 = 88 0 6092802 = χ94, ϕ95

90 0 6816151 = χ96, ϕ96

91 = 90 0 6816152 = χ97, ϕ97

92 0 7229251 = χ98, ϕ98

93 = 92 0 7229252 = χ99, ϕ99

94 0 7229253 = χ100, ϕ100

95 = 94 0 7229254 = χ101, ϕ101

96 0 7229255 = χ102, ϕ102

97 = 96 0 7229256 = χ103, ϕ103

98 0 7659521 = χ104, ϕ104

99 0 8377601 = χ105, ϕ105

100 0 8482321 = χ106, ϕ106

101 0 9088201 = χ107, ϕ107

102 0 9694081 = χ108, ϕ109

103 0 10472001 = χ109, ϕ110

104 0 10602901 = χ111, ϕ111

105 0 11360251 = χ112, ϕ112

106 0 11781001 = χ113, ϕ113

Block 1: ϕ1 ϕ2 ϕ15 ϕ17 ϕ47 ϕ56 ϕ82 ϕ108

11 = χ1 1 . . . . . . .
1541 = χ2 . 1 . . . . . .

77001 = χ15 1 . 1 . . . . .
106921 = χ17 . 1 . 1 . . . .
1232001 = χ47 . . . 1 1 . . .
1710721 = χ56 . . 1 . . 1 . .
6307841 = χ95 . . . . . 1 1 .

10485761 = χ110 . . . . 1 . . 1
14033251 = χ114 . . . . . . 1 1
14033252 = χ115 . . . . . . 1 1

ϕ1 = 11
ϕ2 = 1541
ϕ15 = 76991
ϕ17 = 105381
ϕ47 = 1126621
ϕ56 = 1633731
ϕ82 = 4674111
ϕ108 = 9359141


